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Part I: Listen and complete the notes below. Write NO MORE THAN THREE WORDS AND/OR A NUMBER for each answer. (10 points)

JOB ENQUIRY 

· Type of work: (1) _____________________

· Number of hours per week: 12 hours

· Would need work permit

· Work in the: (2) ______________________ branch

· Nearest bus stop: next to (3)_____________

· Pay: (4) _____________________ pounds per an hour

· Extra benefits:

· a free dinner

· extra pay when you work on (5) _____________________
· transport home when you work (6) _____________________
· Qualities required:

· (7) _____________________
· Ability to (8) _____________________
· Interview arranged for: Thursday (9) _____________________at 6 p.m.

· Bring the names of two referees 

· Ask for: Samira (10) _____________________
Part 2: You are going to hear somebody giving an introductory talk about a course of lessons at a summer school.  Complete the following table with a word or a short phrase. (5 points) 

	Name of the college 
	(11)_____________________

	Time of seminars
	(12)_____________________

	Length of course
	(13)_____________________

	Students should see the Parthenon Marbles and 
	(14)_____________________

	Sport facilities free except for 
	(15)_____________________


Part 3: You will hear an interview in which two young entrepreneurs - Chloe Price, who sells skincare products online, and Martin Moore, who is a distributor of snack foods- are talking about their work. Choose the answer which fits best according to what you hear. (5 points) 

16. Chloe attributes her success as an entrepreneur to her ______. 

A. exposure to unconventional business concepts

B. willingness to take risks

C. ability to benefit from experience



D. natural flair for money management

17. The greatest benefit new technology has brought Chloe is in______.

A. being able to promote her products through friends 

B. encouraging interaction with consumers

C. reducing her ongoing business expenditure

D. enabling her to manage her time more effectively

18. Martin’s choice of product to distribute was based on his belief that ______.

A. it was a quality item




B. it was effectively marketed

C. it was part of a well-established brand


D. it was endorsed by famous people

19. Martin’s advice to prospective entrepreneurs is to ______.

A. spend time attending motivational talks


B. research opportunities thoroughly online

C. conduct regular email surveys



D. establish contacts with those in the same field 

20. Both Chloe and Martin have been surprised by the importance in their work of ______.

A. collaborative decision-making



B. paying attention to detail

C. securing sound financial backing



D. a total commitment to the enterprise
SECTION B. PHONETICS (10 points)

Part I. Choose the word whose underlined part is pronounced differently from that of the rest. (5 points)

1. A. latter 
B. label   
C. laser 
D. labor 
2. A. brochure   
B. purchase 
C. orchard 
D. scratch
3. A. precision 
B. profession 
C. decision 
D. provision
4. A. preparation   
B. prejudicial 
C. prerequisite  
D. preferential  
5. A. exportation 
B. expedition 
C. exclamation   
D. exacerbate
Your answers: 

	1. 
	2.  
	3. 
	4. 
	5. 


Part II. Choose the word that has a different stress pattern from the others in the group. (5 points)
1. A. outbreak  
B. outlook  
C. outcome 
D. outlive
2. A. nature 
B. mature 
C. culture  
D. creature
3. A. European 
B. magazine 
C. interview 
D. interfere
4. A. oceanic 
B. psychology 
C. synonymous  
D. decisiveness 
5. A. accidentally  
B. experimental  
C. psychological 
D. metropolitan
Your answers: 
	1. 
	2.  
	3. 
	4. 
	5. 


SECTION C. LEXICO AND GRAMMAR (70 points)

Part I. Choose the word, phrase or expression that best completes each sentence.  (20 points)

1. If you want to buy some new clothes, the store I would recommend is ________. 

A. Jack’s
B. the Jack’s
C. the Jacks
D. a Jack’s

2. I know it’s not sunny now; _________ I shall take my sunglasses.


A. even as
B. even so
C. even if
D. even though

3. We regret to tell you that the materials you ordered are________. 

A. out of stock
B. out of practice
C. out of reach
D. out of work
4. Their research into the causes of cancer promises to break the new________ in the field and possibly lead to a cure.


A. earth
B. ground
C. soil
D. land

5. ________ stay the night if it's too difficult to get home.


A. On the whole
B. All in all
C. At all costs
D. By all means 
6. Up________ when it saw its master.


A. jumped the dog
B. did the dog jump
C. the dog jump
D. does the dog jump

7. ________ physically handicapped, he has become a successful businessman.


A. Notwithstanding
B. Because 
C. Though 
D. Despite
8. Jack: “Another cup of coffee?” – Laura: “No, but thanks __________”.

A. not at all
B. for all
C. all the same
D. you for all

9. My sunburnt nose made me feel rather ________ for the first few days of the holiday.


A. self-confident 
B. self-centred 
C. self-conscious 
D. self-evident

10. The winter is usually mild although we sometimes get a cold________ at the beginning of the year.


A. spell
B. term
C. interval
D. wave

11. Richard started the race well but felt________ in the later stages.


A. faintly 
B. fainting
C. fainted
D. faint
12. The rents in this area are ________ the highest in the city.


A. far from away
B. away by far        
C. far and away
D. far or away

13. Veronica broke the school rules so many times that the headmistress finally had no alternative but to ________ her.

A. export
B. deport
C. eject
D. expel

14. There has been a dramatic_______ in the way we see modern society.


A. shift 
B. alteration
C. variation  
D. admendment

15. ________ the benefits and the drawbacks of their imigration to Germany, they decided to stay.


A. Taking
B. Given 
C. Concerning
D. Weighed

16. Opponents say animals may suffer because their ________ environment is restricted and artificial.


A. prisonlike
B. confined
C. incarcerated
D. captive

17. The lives of thousands of birds are in ______ as a result of the oil spill.

A. devastation
B. jeopardy
C. destruction
D. extinction
18. He objected to____________________________.

 
A. his mistakes being laughed at                      
B. laughing his mistakes at

 
C. his mistakes laughing at                               
D. his mistakes at laughing
19. Most psychologists agree that the basic structure of an individual’s personality is_________.


A. well established extremely by the age of five
B. by the age of five it is extremely well established


C. extremely well established by the age of five
D. by the age of five and extremely well established

20. Having been served lunch, _________.


A. the problem was discussed by the members of the committee


B. the committee members discussed the problem


C. it was discussed by the committee members the problem


D. a discussion of the problem was made by the committee
Your answers:
	1. 
	5. 
	9. 
	13. 
	17. 

	2. 
	6. 
	10. 
	14. 
	18. 

	3. 
	7. 
	11. 
	15. 
	19. 

	4. 
	8. 
	12. 
	16. 
	20. 


Part II. Give the correct form of words in brackets to complete the following sentences. (20 points)
1. It was a __________ minor accident but tragically, one of the two drivers died. SEEM 
2. Advertising is particularly effective on people who are highly ___________.   SUGGEST 
3.  Children quickly ___________ their shoes and clothes. GROW 

4. I am sorry to have bothered you, I was under the _________ that you wanted me to call you. APPREHEND 
5. That news conference was ___________ boring! SPEAK 

6. How to win friends and influence people is really a(n) _______ book for all generations of readers. PUT 
7. Whenever we plan to go for a picnic, it___________ rains. VARY 
8. Owen's second goal was __________ because he was off-side. ALLOW 
9. The higher we climbed, the more __________ the scenery became. INSPRIRE 
10. I can’t recognize you; you’re reacting like an __________. AUTOMATIC 
Your answers:
	1. 
	6. 

	2. 
	7. 

	3. 
	8. 

	4. 
	9. 

	5. 
	10. 


Part III.  The passage below contains 10 mistakes. IDENTIFY and CORRECT these ten mistakes. Write your answer on the number blanks given below.(10 points)
	Line
	

	01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16
	             Humans have struggled with weeds since the beginnings of agriculture. The global need for weed control has been answered mainly by the chemical industry. Their herbicides are effective and sometimes necessary, but some pose serious problems, particularly if disuse. Toxic compounds threaten animal and public health while they accumulate in food plants, ground water, and drinking water. They also harm workers who apply them.

           In recent years, the chemical industry has introduced several herbicides that are more ecological sound. Yet new chemicals alone cannot solve the world weed problems. Therefore, scientists are exploring the innate weed-killing powers of live organisms, primarily insects and microorganisms.

           The biological agents now in use are harmless to humans and are environmentally benign. They can be chosen for their ability of attacking selected targets and leave crops and other plants untouch. In contrast, some of the most effective chemicals kill virtually all the plants they come in contact with, sparing only those that are naturally resistant but have been genetically modified for resistance. 


Your answers:
	Line 
	Mistake
	Correction
	Line
	Mistake
	Correction

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


Part IV: Complete each of the sentences with one of the phrasal verbs given below. Make any changes if necessary. (10 points)
      bear out                    map out                 take on                   flick through                 come up with
     fall back on               add up                   drop off                 bring up                         fall behind with
1. The teacher asked a difficult question, but finally Ted __________ a good answer.

2. As its sales have increased, that computer company is going __________ more staff. 
3. When Ricky ran out of money, he __________ his mother for help.

4. It’s important to set clear goals and __________ your career path.

5. Make a study timetable, that way you won’t __________ your homework. 

6. I saw the interview while I was __________ a magazine at the hairdresser’s. 

7. Last night I __________ at 11.30 after seeing a film on VTV 3.

8. The witness’s evidence __________ what Peter had said

9. Neil was too embarrassed to __________ the question of who would pay.

10. I’m afraid that your story doesn’t really __________.
Your answers
	1. 
	6. 

	2. 
	7. 

	3. 
	8. 

	4. 
	9. 

	5. 
	10. 


Part V. Find ONE word to fill in each blank to finish the sentences below. Write your answer on the numbered blanks given below. (10 points)
1. We can’t go skating. The ___________ has been closed for repairs. 

2. Many local authorities realize there is a need to ___________ provision for disabled people in their housing programmes. 

3. Sales began the year at 30,000 units in January and increased slightly ______ 2,000 units in February.
4. It was right in the middle of the school yard _________ I saw a strange alien. 

5. __________ second thoughts, I’d rather not go out tonight. 

6. Going on this diet has really _________me good. I’ve lost weight and I feel fantastic! 

7. Karen was terribly nervous before the interview, but she managed to pull herself ___________ and act confidently. 
8. The party leader traveled the length and ________ of the country in an attempt to spread his message. 
9. The company makes a loss again this year and is in the                  at the moment. 

10. He is one of the founders of the company so he has the rules at his ___________. 

Your answers
	1. 
	2. 
	3. 
	4. 
	5. 

	6. 
	7. 
	8. 
	9. 
	10. 


SECTION D. READING COMPREHENSION (50 points)

Part I. Fill in each numbered gap with ONE suitable word (20 points)



      Why is it that many teenagers have the energy to play computer games (1) ________ late at night but can't find the energy to get out of bed in time for school? According to a new report, today's generation of children are in danger of getting so (2) ________ sleep that they are putting their mental and physical health at risk. Adults can easily survive (3) ________ seven to eight hours' sleep a night, whereas teenagers require nine or ten hours. According to medical experts, one in five youngsters gets anything between two and five hours' sleep a night less than their parents (4) ________ at their age.


      This raises serious questions about whether lack of sleep is affecting children's ability to (5) ________ at school. The connection between (6) ________ deprivation and lapses in memory, impaired reaction time and poor concentration is well established. Research has shown that losing as little as half an hour's sleep a night can have profound effect on (7) ________ children perform the next day. A good night's sleep is also crucial for teenagers because (8) ________  is while they are asleep that they release a hormone that is essential for their 'growth spurt' (the period during teenage years when the body (9) ________ at a rapid rate). It's true that they can, to some extent, catch (10) ________ on sleep at weekends, but that won't help them when they are dropping off to sleep in class on a Friday afternoon.

Your answers:
	1. 
	6. 

	2.
	7. 

	3. 
	8. 

	4. 
	9. 

	5. 
	10. 


Part II. Read the passage and choose the best answer to each of the questions. (20 points)
HISTORY OF THE CHICKENPOX VACCINE

Chickenpox is a highly contagious infectious disease caused by the Varicella zoster virus; sufferers develop a fleeting itchy rash that can spread throughout the body. The disease can last for up to 14 days and can occur in both children and adults though the young are particularly vulnerable. Individuals infected with chickenpox can expect to experience a high but tolerable level of discomfort and a fever as the disease works its way through the system. The ailment was once considered to be a “rite of passage” by parents in the U.S. and thought to provide children with greater and improved immunity to other forms of sickness later in life. This view, however, was altered after additional research by scientists demonstrated unexpected dangers associated with the virus. Over time, the fruits of this research have transformed attitudes toward the disease and the utility of seeking preemptive measures against it.

A vaccine against chickenpox was originally invented by Michiaki Takahashi, a Japanese doctor and research scientist, in the mid-1960s. Dr. Takahashi began his work to isolate and grow the virus in 1965 and in 1972 began clinical trials with a live but weakened form of the virus that caused the human body to create antibodies. Japan and several other countries began widespread chickenpox vaccination programs in 1974. However, it took over 20 years for the chickenpox vaccine to be approved by the U.S. Food & Drug Administration (FDA), finally earning the U.S. government’s seal of approval for widespread use in 1995. Yet even though the chickenpox vaccine was available and recommended by the FDA, parents did not immediately choose to vaccinate their children against this disease. Mothers and fathers typically cited the notion that chickenpox did not constitute a serious enough disease against which a person needed to be vaccinated.

Strong belief in that view eroded when scientists discovered the link between Varicella zoster, the virus that causes chickenpox, and shingles, a far more serious, harmful, and longer-lasting disease in older adults that impacts the nervous system. They reached the conclusion that Varicella zoster remains dormant inside the body, making it significantly more likely for someone to develop shingles. As a result, the medical community in the U.S. encouraged the development, adoption, and use of a vaccine against chickenpox to the public. Although the appearance of chickenpox and shingles within one person can be many years apart - generally many decades - the increased risk in developing shingles as a younger adult (30-40 years old rather than 60-70 years old) proved to be enough to convince the medical community that immunization should be preferred to the traditional alternative.

Another reason that the chickenpox vaccine was not immediately accepted and used by parents in the U.S. centered on observations made by scientists that the vaccine simply did not last long enough and did not confer a lifetime of immunity. In other words, scientists considered the benefits of the vaccine to be temporary when given to young children. They also feared that it increased the odds that a person could become infected with chickenpox later as a young adult, when the rash is more painful and prevalent and can last up to three or four weeks. Hence, allowing young children to develop chickenpox rather than take a vaccine against it was believed to be the “lesser of two evils.” This idea changed over time as booster shots of the vaccine elongated immunity and countered the perceived limits on the strength of the vaccine itself.

Today, use of the chickenpox vaccine is common throughout the world. Pediatricians suggest an initial vaccination shot after a child turns one year old, with booster shots recommended after the child turns eight. The vaccine is estimated to be up to 90% effective and has reduced worldwide cases of chickenpox infection to 400,000 cases per year from over 4,000,000 cases before vaccination became widespread. ■ (A) In light of such statistics, most doctors insist that the potential risks of developing shingles outweigh the benefits of avoiding rare complications associated with inoculations. ■ (B) Of course, many parents continue to think of the disease as an innocuous ailment, refusing to take preemptive steps against it. ■ (C) As increasing numbers of students are vaccinated and the virus becomes increasingly rarer, however, even this trend among parents has failed to halt the decline of chickenpox among the most vulnerable populations. ■ (D)

1. The word “tolerable” in the 1st passage is closest in meaning to

A. sudden.

B. bearable.


C. infrequent.

D. unexpected.

2. According to paragraph 1, which of the following is true of the chickenpox virus?

A. It leads to a potentially deadly disease in adults.

B. It is associated with a possibly permanent rash.

C. It is easily transmittable by an infected individual.

D. It has been virtually eradicated in the modern world.

3. Which of the following best expresses the essential information in the highlighted sentence? 

A. U.S. parents believed that having chickenpox benefited their children.

B. U.S. parents believed that chickenpox led to immunity against most sickness.

C. U.S. parents wanted to make sure that their children developed chickenpox.

D. U.S. parents did not think that other vaccinations were needed after chickenpox.

4. what can be inferred from paragraph 2 about the clinical trials for the chickenpox vaccine?

A. They took longer than expected.

B. They cost a lot of money to complete.

C. They took a long time to finish.

D.  They were ultimately successful.

5. The word “notion” in the 2nd passage is closest in meaning to

A. history

B. findings

C. fact

D.  belief

6. According to paragraph 3, which of the following is true of Varicella Zoster?

A. It typically attacks adults who are over 60 years old.

B. It is linked to a serious disease that occurs more commonly in adults.

C. It likely is not a serious enough threat to human health to require a vaccine.

D.  It is completely eradicated from the body after chickenpox occurs.

7. According to paragraph 3, all of the following is true about the chickenpox virus EXCEPT:

A. It causes two distinct yet related ailments.

B. People did not view it as a serious public health threat.

C. It tended to quickly become dormant and remain inoperative over time.

D.  Vaccination against it would help prevent the onset of shingles.

8. The author uses “booster shots” as an example of

A. a way to increase the effectiveness of the chickenpox vaccine.

B. a preferred method of chickenpox rash and fever treatment.

C. a scientifically approved medicine to eliminate chickenpox.

D.  a strategy for parents to avoid vaccinating their child altogether.

9. According to paragraph 4, many parents did not choose the chickenpox vaccine because

A. they believed that the virus was weak and not especially harmful.

B. they thought that scientists did not have enough data to reach a conclusion.

C. they were unsure about the utility of the vaccine given its expected duration.

D.  they were convinced it was potentially very toxic, particularly for older children.

10. Look at the four squares [■] that indicate where the following sentence could be added to the passage.

Meanwhile, some continue to remain unconvinced, citing a supposed potential of the vaccine to do harm.

Where would the sentence fit best?

A. (A)


B. (B)


C. (C)


D. (D)
Your answers:

	1. 
	2. 
	3. 
	4. 
	5.

	6. 
	7. 
	8. 
	9. 
	10. 


Part III. Read the passage and then complete the summary. (10 points) 

Political Parties in the UK


         The British political scene is dominated by two major parties that have quite different political agendas. However, the ideological distance between the Labour Party and the Conservative Party has become less marked, and their policies more difficult to tell apart in recent years. In fact, it would be true to say that both parties consist of conservative, moderate and radical elements, and therefore the general public is often perplexed about which party to vote for. Nonetheless, it is usual to find that a British voter will lean towards supporting one of these two parties and remain faithful to that party for life.

             The Labour Party’s manifest objective is to safeguard the interests of the common working men and women, and in effect, give them political representation in Parliament. The Party has always had strong connections with the trade unions, and, before coming to power, was always passionately committed to the concept  of a welfare society in which people who are less fortunate than others are politically and financially assisted in their quest for a more equitable slice of the economic pie. The main problem is that such socialist agendas are extremely expensive to implement and maintain, even in a comparatively wealthy country with a large working and, hence, tax-paying population base. Welfare societies tend towards bankruptcy unless government spending is kept in check. Fortunately, the present government recognizes this and has resisted reckless spending.

               The Conservative Party, on the other hand, argues that the best way to ensure a fair division of wealth in the country is to allow more freedom to create it. This, in turn, means more opportunities, job created, ect. ,and therefore more wealth available to all. Just how the poor are to share in the distribution of this wealth (beyond being given, at least in theory, the opportunity to create it) is, however, less well understood. Practice, of course, may make nonsense of even the best theoretical intentions, and often the less politically powerful are badly catered for under governments implementing “free-for-all” policies.

                It is surprising, given the current homogeneity of the two major parties, that less attention than elsewhere in Europe is paid to the smaller political parties such as the Greens and the Liberal Democrats. This may be because British voters distrust parties with platforms based around one or two major current issues alone; the Green Party, for example, is almost solely concerned with the environment. Moreover, when it comes to casting a vote, history shows that the British public tends to resist change and, thus, the status quo is maintained.

Choose ONE suitable word from the box to complete each of the gaps in the summary below. There are more words than you need. 
Two parties (1) __________ the British political scene: the Labour Party and the Conservative Party. Although (2) __________ there are many similarities to be seen in their policies, British voters tend to stay (3) __________ for life to the party of their choice. The (4) __________ Party, encouraged by the trade (5) __________, supports a welfare-based (6) __________, whereas the (7) __________ Party believes that (8) __________ to pursue the creation of wealth ensures that all will eventually benefit from the opportunities created. Oddly, Britons do not follow (9) __________ by paying much attention to smaller political parties, perhaps because their policies are based on just a few (10) __________ political issues.

	supporters           control                    support                    money                     opportunities          society

welfare            policy               majority            politicians                Europe             voters              unions               now              general public     Conservative             Labour            loyal             recently               leaning                   Green                       Europeans                     current           freedom        


Your answers:
	1. 
	6. 

	2. 
	7. 

	3. 
	8. 

	4. 
	9. 

	5. 
	10. 


SECTION E. WRITING (50 points)
Part I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it. (10 points)
1. All that stood between John and the gold medal was Jim's greater speed.

But for ___________________________________________________.
2.  The Japanese missing boy Yamato was found healthy and hungry in a military hut by a soldier.
The moment  a__________________________________________________________________.
3. You were not supposed to tell anyone about my news.

I would rather my________________________________________________
4. Bill Gate’s friends used to persuade him not to drop out of university.

Bill Gate’s friends talked__________________________________________

5. In spite of her initial reluctance to take the job, she’s got on very well.

Reluctant_______________________________________________________

Part II. Rewrite each of the following sentences so that it means the same as the given one, using the given words in brackets. Do not change the word. (10 points)

1. They believe that Oliver failed his exam because he was nervous. 
PUT
Oliver’s failure _______________________________________ he was nervous. 

2. Everyone found it absolutely astonishing that Leicester won the Premier League. 
UTTER
To ________________________________________________ the Premier League.
3. One day she’s going to become a famous film star. 

MATTER
It’s only ___________________________________________a famous film star. 
4. I don't have the foggiest idea whether he will be coming or not. 
WHATSOEVER
I have ______________________________________________ whether he will be coming or not.

5. Bruce said that the situation at work was like a family argument. 
LIKENED
Bruce _______________________________________________ a family argument. 

Part III. Paragraph writing. (30 points)
Teenagers should be encouraged to have part-time jobs at their early age to lead an independent life.
Do you agree or disagree with the above statement? 

Write a paragraph of 180 to 200 words to state your viewpoint. 
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

----------THE END----------
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